coboonon
Joboogoon

gooo-

20040 60 20

1 ODO0oOoOoodo

oboo000ooo0ooob 1s0b00bobo0o0obooboobob1201400000000000000
ugoboobogbooooobooobboboobobooooboobooboobooobobooobooonoo
god

150 0O000OO000o

2 00000000 (150)

2.1 000O0OO0O0OOODODOOOOODOO (p.282)

OegecUODOOODOOOOOOOODOODOODDOODDODOOODOODOODOOODOOOOOODODDOO
oooooobooooooobobobo p220000000000O00O00OOOOOOOOOO
goboobOobooooobooooooboobobooooooooooboooooooooboooobooon
oobooooboooooooobooobon

gobooooboobOobOoobboooboUo p2830 0000000000 DOODOOOOODOOODOO
gooooo

e [(ODODDOOOOUUU#include
e [MOOOOOONDO#define

goboooao

22 0U0O00OO0OO0O0OO0OO0ODOO

gboboobobdobooobouoooobooobobbobooobobbobobooobobboan
gooood

*000000 MOo0oooooo000 moooo



W N =

#0000 MoOoooOoboog

gboboogooboaobobouoooboobobooooaoon

e # D00 DODOOOO0ODODODOOAOODODOOODOODODOOOOOOODDOODODOOOO
O000ooooobooooooo4b0bOoboOooboobooooboooD

e JJ00000DODODODOODOUODUDDODOUUOCOOODOUODODYDDDODOOOODOO
goobooooooobooooooooooooyoooooboo

e 00000000000 OD0O000DDONO00DNONON0NONNONDONDNON0N0ONON0NNn 0oo0non
gboooboogobooooobgon

2.2.1 0000000

#include* U0 UO0O"OO00OOO0ODOOODOOO000000O000O0C0O000O000000O0 <filename>
o000O0D0O0ODO0OO0000000000D0000000unixD00O/usr/include 0O000D0D0OOO
oobooOoooobboboooboooboOobObOoOoobobO0obOb00oO0nb0D0DO #include "myfile.h" OO
gobooogoboobobooooobooooooobooooooobobooooboobooooboboooDbo
gbboooooobboooobobboooooboooooobooobooooboobooOoboooooboOooon
gooooooboooooboooooobooboobobobooomooooboooooboobooon
0000000000000 00Dmyfile.h O000000000OD0O00DO00O0D0DOODO #include O
ooooobboboboooobooboboboboboobooboooooboooboobDobOoboOobooboooOooOon
gboooooboboooooobooobooobo

oboooOooooooooboooobooobooboobooobobOOoobocooboboooooooooon
oobooooooboooooobobobobboboobo0o0 mobobooooooobbooooobooooobo
#include U0 DO UO0ODOOD0O0O0DDOOO0DOO0ODODODOOD#inclvde 00O O0OODOOODOOODOODO
gboooooobooooooobooob moobooboooooboboboooboboobooobooboooon
gooor2xbooobooooobo0oooooooooooooobooobOoooooboDbDOoooooobo
goboooooooobooboboobbobobobooooboooboooboooboboobooboooo
goboooobooooboooboooboooooooooooooooooooooooobooboOooooobo
goobooobooo

Hello World 'O O O0O00OD0OOO0OCO0O00OOOODOCOOOO0O0O0OO0OO0O0 Omyfile.hO00O0O00O0O
gooopoocoooooooooOopooooOodbooooDOoObObOOo0oooooUoboobooo
uboooooooooog

ugb 1 gooooooogood

#include <stdio.h>
#include " myfile.h”
return (0);
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int main(){
printf(”Hello World !!'\n”);
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y[1]=2%y[1-1]+DY2DX2(x-dx,y[i-1])*dx*dx - y[i-2];
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1 | #define DY2DX2(x,y) (—vy) /* 00000 */
2 | ##define YO 0 /* 0000 y=0 at x=0 */



#define DYDX0 1 /x 0000
#define N 1000 /* 0000
#define MAXX 10.0 /x 0000
#include <stdio.h>

dy/dx=1 at x=0 */
oo =/

O
O oooooo =/

int main() {
double dx, x, y[N+1];
int i; FILE *xresult;

result = fopen(”cal_result” ,”w”);
—— 0000000 -------- */
MAX_X/N;

YO0;
YO4DYDX0#dx+1/2¥DY2DX2(0 ,y [0]) * dxxdx

—— X
—= o
—
[l

fprintf(result ,”%e\t%e\n” ,0.0,y[0]);
fprintf(result ,”%e\t%e\n” ,dx,y[1]);

Y 00000000 --------- */

for(i=2; i <=N; i++){
x = ixdx;
y[1]=2*y[i—1]4+DY2DX2(x—dx,y[i —1])*dx*dx — y[i—2];
fprintf(result ,”%e\t%e\n” ,x,y[i]);

}

fclose (result );
return 0;

23.3 00000

0000000000000000000000000 (calresult) 00000000000 OOOO
(¢,y) DOOO0OOODOO0OODODOUO0OOOgnuplot 0000000000000 0O0O0OOOOOODOOOOO
ooobooooooooooon

1. 0000000 gnuplot 000000000000 DO D gnuplotdO OO
[yamamoto]$ gnuplot
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gnuplot> plot "cal_result"

3.gnuplot 0000000000000 Dexitd OO

gnuplot> exit
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